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‘Student: Instructor: Alfredo Alvarez Assignment: oIy L.
.Date:_ _ Course: Math 0410/ 0320 Alvarez MATHSANANTFIESTAHS145QMR I"';f
1. Solve and check the solution. /5 A —/2 ~ /6 x ""/X = /( ¥

(SK~MA =7/

3(5x - 4) = 16x
=~/ L
x= ; [y X SVEX +1¢C CD
I5X 16X /6 X~ {1—~rC
Answer: - 12
IX=/z e
2. Solve the equation. ’-Zj“'—%f,(f(“ 5—‘7 -/-‘:,'-f‘ll_
-2y=-12=5y+9 ._.27 - 3—'7..7-2,/
o I ~3y sy Y?‘*Z”S7
Answer. -3 _—7_72 /7 @
TGy P
3. Sol theeqat8 . M//f}’ (/7)‘)" 3 (/;9 2__&_1_ = _E
m m
ST m(3) < M(//'J"B’(U/ /;7_29;
rn=l (Typeailﬁt‘e?geror:a;fra/ctl{:'? SlmmégranQ)
3ny— | S LF - T
Answer. 24 2 /"1 = ‘/57
R T € A A

4. Solve the following equation.

—3:.6 X :-/i

-36x+1.1=-169

—- 17
The solution is f (Type an integer or a decimal. ) 266‘( -2, ¢
Answer: 5 w
5. Solve. 6 X '—7¢ f l (—-—74 ?

3(2x-2.6)=2x-7.8 Gy —73 +77 < I¢—1.D *Z/J’/

x= ~|(Type an integer or a decimal.) e ( T e

G —1x  TlL-1X

Answer: 0
& )( =0
'7 5
o
(H=2
“_'_'_""'---_.._

e
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4 z /( {7 ,6 ) ve
6. Find the total amount in the compound interest account. ey )
= . /<
$2710 is compounded annually at a rate of 10% for 1 year. /4 2’7/ d / { A '3-/— ) /

$ {(Round to the nearest cent} /4 = Z ? 0 (/‘7"./*—3)
A=22o((r0)
Answer: 2981.00

— CA:-273 05

7. Solve the inequality. Graph the solution set and write it in interval notation,
2x<~-12

Choose the correct graph below.

O A, > () B,

8-76-5-4-3-2-1012345678 B8-76-5-4-3-2-1012345678

> O 0.

Ly
T
6 78 8-76-5.43-2-1012 345678

O C. G

B8-76-5-4-3-2-1

o 4
—
[,8
w
£
w4

O E. <Gemmmimjmjojosiim—py- () F,

8-7T-6-54-3-2-1012345678 8-76-54-3-2.1012345678
The solution to the inequality 2x< =12 is [ :
(Type your answer in interval notation.) Z /< < - ( {—
Answers —_
X C /¢
A, 87654-3-21012345678 - 2
=
(—c0,—6)
= ~—-uf';=—{'f
B R e e G
T, :
/ e

2of 59
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B. Solve the inequality. Graph the solution set and write it in interval notation.
-7xs28

Choose the correct graph below.

O A, Crjt——t———t——t—_—] > () B,

8-76-54-3-2-16 12345678

O €. i f—i————t——- () D,

6-T-6-5-4-3-2-1012345678

O E. <Gy (") F.

87654321012 345678

The solution to the inequality -7x<28 is l

(Type your answer in interval notation.)

Answers 7/ —-—7 [‘(f /)J j
C. -8-76-54.3-2101234567 8 SR
[~a.00 2 < 4l Ty 7 f«%‘%
e : f/'uwo c///)c#/ C/U'
—_ — — — e
9. Solve the inequality. Graph the solution set and write it in interval notation. 0 : é,:__
o r
-06y<-3 .
Choose the correct graph below. ..--:— -

—0-6 = —0-6

QA_QH—M—H—H—H—H—H%OB_W_M-)—H%H-BC“ S
-8 6 4 -2 0 2 4°6 8 10 12 8 6 4 20 2 4 6 B 10 12 ~

() €. i —— () D,

8 6 4 2 0 2 4 6 8 10 12

The solution set in interval notation is f .
Answers f { : )

C. 8-6-4 20 2 46 81012 lww‘ﬁ_Bj m(-{’ﬂ e
e z J

10. Solve the inequality. (7(,('-’{7" < ?)(-(- Y i )’

4x-3<9x+22 S”A/ LG +2s

The solution set is I . (Type your answer in interval notation.)
O—Gx <L GH~ 21 9><

wa D
—_— — Fuorin C;//! CLA’?//(Z{/

—
of 59 I 22 0-AM
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wli g 5 v <l =
11.  Solve the inequality. '
SX—L = F—2«

-5x+222(4-x%)

_/
The solution set is :I (Type your ansgrﬁl—rﬁ al nofa mn)/ i Z
| X = Cx-—+6
Answer: (— o0, - 2] i
- XXz M G6rlK

12. Solve the inequality.

4(3x-1)<5(2x - 4)

The solution set is . (Tyke your answer in interval notation.)

Answer: (- oo, - 8]

——— A=) ES(Pe=)

(1x € /0 X ~ /%
(15 1ok € foriT5 o
2x £ ~/6

e

/ 3/29/2019, 930 AM
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13,
For the following equation, find three ordered pair solutions Ay
by completing the table. Then use the ordered pairs to 104
graph the equation. 8_’
y=-7x &
Find three ordered pair solutions of the given equation. 4j
24
X y _ ; .
0 ] L4 T 1 13 1] M | L] ] 1 I >
-6 8 6 4 -2 2 4 8 8 10
-1 -2
1 [ N
Use the graphing tool to graph the line. -6
-8~
-10~

Answers 0 7 :é7)( X
7 1= 1) Jlo

-7

jof 59 3/29/2019, 9:20 AM
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Sof 59

14,

For the equation, find three ordered pair solutions by
completing the table. Then use any two of the ordered pairs
to graph the equation.

y=gx

Complete the table below.
X y
0 1

4
-4

Use the graphing tool to graph the equation.

Answers 0

htips://xlitemprod.pearsoncmg.com/api/v 1/print/math

10]

34
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15.
For the following equation, find three ordered pair solutions j\y
by completing the table. Then use the ordered pairs to 10
graph the equation. B:
= =2%X+7 6
Find three ordered pair solutions of the given equation. 4'_
2-
X y | "
0 | ! | DL FL A SR LR B L e Y NI
= -0 B 6 4 2 ) 2 4 & 8 10
1 1 -2
2 | -+
Use the graphing tool to graph the line. .5—-
-8
Answers 7
5
3
-0 JiEed 6 |
I T ==

"of 59 312902019, 9:20 AM
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16.
Graph the linear equation. . j“’
1
+3y=-=6 4
X+ 3y A
Use the graphing tool to graph the equation. 6+

Xt 59 A :’Gﬂé _(
. /5-0\#(‘0 3

b

4

o
-
—

o

{of 59 3/29/2019, 9:20 AM
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17.
Graph the linear equation,

1
=—x+
y 2 X 2

Use the graphing tool to graph the linear equation,

Answer:

https://xlitemprod.pearsonecmg.com/api/v [ /print/math

Ay

b

tof 59

3/29/2019, 9:20 AM
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8.
Graph the linear equations y = 3x and y = 3x+ 3 on the same Ay
set of axes. Discuss how the graphs are similar and how il
they are different. B-
Use the graphing tool to graph the linear equations. G'_
How are the graphs similar and how are they different? 4?
2+
(O A. Both graphs have the same tilt, but they 1 x
cross the y-axis at different points. fo B & % S i3 F I
(0 B. Both graphs have the same tiit, and they 2]
cross the y-axis at the same paint. ]
O C. Both graphs have different tits, but they 1
cross the y-axis at the same point. -
) D. Both graphs have different tilts, and they ;
cross the y-axis at different points.

Answers ¥
10

30

(i:}ﬁf)

30142
UvQ*j

=
A. Both graphs have the same tilt, but they cross the y-axis at different p:ants. " et

10 of 59 3/29:2019, 9:20 AM
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19,
Identify the intercepts. Identify all the x-intercepts.

(Type an ordered pair. Use a comma to separate answers
as needed.)

Identify all the y-intercepts.

{Type an ordered pair. Use a comma to separate answers
as needed.)

X v l//c,/}/% ;{ @ (2/ 0’)
\j—mb/a'}/’# < ~2 @ (@ '2)

Answers (2,0)
(0,-2)

1 of 59 3/29/2019, 9:20 AM
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20.

Plot the intercepts to graph the equaticn. Ony
1 g
5x—-3y=15 I
Y -
Use the graphing tool to graph the equation. Use the 6+
intercepts when drawing the line. If only one intercept 1
exists, use it and another point to draw the line. 4'_
2

1 X
i 8 -6 4 -2 | 2 4 & & 10

-2
it
-6
8-
10

Answer:

TSy =/

T —
bod G ibagt [ if Heo

fod Xetbepp LeF 9= 0
(=31 < /5
Sy —O= N~
$X =

_5_3__(1_'//(‘
s 5

_-_“_‘_‘_— —
[2of59 —— 3/29/2019.9:20 AM
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21.

Graph using the x- and y-intercepts, Ay
15
=5x+5 ]
y 12
Use the graphing tool to graph the linear equation. Use the 9':
intercepts when drawing the line. If only one intercept exists, 1
use it and another point to draw the line. &
3]

] X
r T T T 1=t T T T T >
15 12 -9 6 -3 ] 3 6 9 12 15
&
-6
-
-12]
15
Answer:
15 12
A e J s e

/,t)/ X=rlereagf [f“IL 7 =0 ,/.../ y,-n-lm'ﬂf‘ Zz‘ Y=O

P = X1 y T S/
O~ < $¥ <457 9T OFr

—§ = 5K

3/29/2019, 9I0AM
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22. Match the equation with its graph.
y=4
Choose the correct graph below.

O A, O B.

htps://xlitemprod.pearsoncmyg.com/apifv | /print/math

_.-r"*‘_'_'d_'_'_'—_‘_-__ T e )
; hy \ A’"‘J‘[( e
i Ao )
> Neronse  C¥3
. —

23. Match the equation with its graph.
x=1

arrect graph below.

14 of 59

3/29/2019.9:20 AM
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y /B (7] ~(~<)

24. Find the slope of the line that goes through the given points.
(-7.7and (-5, -5) A L pre 175
i v, { — I
Sele%ﬁthe éorrect éﬁbice ‘[Telow and, i Aecesg'a'ry, fill in the answer box to complete your choice. 7 '
# e 12
(0 A. The slope is . (Type an integer or a simplified fraction.) -7
[} B. The slope is undefined. @
Answer; A, The slope isI_ -6 f (Type an integer or a simplified fraction.)
: =2 = e — e
25. Find the slope of the line that goes through the given points. /17 - ( G g { 3') e
—~V —
(3, -6)and (3, 5) 2 t’_'_.-—i- G () ~G~
K Y Y‘L ?L' 0 \ f‘: 5 = 3—
Se ec} the éorrect choice below and, if necessary, fillin the answer box to complete your choice. A >
)

O A. The slope is . (Type an integer or a fraction. Simplify your

() B. The slope is undefined.

Answer: B. The slope is undefined,

- = T ———— -

26. Find the slope of the line that goes through the given points.

(-4.2)and (8, 1) m e L} (*'U'“(‘T) -
Seleg }he\{c'urrect g’hgité below and, if ne'cessary, fill in the answer box to complete your choice. 77 ~ e G

O A. The slope is . (Simplify your answer.)
() B. The slope is undefined.

1
Answer: A, The slope is T . {Simplify your answer.)
- - ven oo mz (L)=(T)
27. Find the slope of the line that goes through the given points, —_—
= SWED)
y |
(3.2) and (4,2) s = [l

v % —v :
Selgét thé corréltt?: bice below and,/ifhecesg'a'ry. fill in the answer box to complete your choice. a 3 —

pr:

() A. The slopeis . {Type an integer or a simplified fraction.) . —_f
(O B. The slope is undefined. ~

_\_‘_‘_\_\_‘_‘_‘_- et
15 0f 59 3/29/2019. 9:20 AM
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28.
Find the slope of the line if it exists.

https://xlitemprod.pearsoncmg.com/apifv1/print/math

Select the correct choice below and, if necessary, fill in the

answer box to complete your choice.

~

B
/0;?) ( $o)

e Ayl
b= I
)(//L/

Answer: A. The slope is

|

1 A

The slope is .

{Simplify your'answer. Type an integer
or a fraction.)

. The slope is undefined.

M= ¥ )=(9)
0)=("
e

29,
Find the slope of the line if it exists.

Select the correct choice below and, if necessary, fill in the

answer box to complete your choice.

Ay
8-

W

4

® 2

A

Answer: B. The slope is undefined.

) A. The slope is :

{Type an integer or a simplified fraction.)

) B. The slope is undefined.
- /-
; ("5'/ 5) /“f}"‘l_) e Qk‘g

(——r}( ~)
3+L

16 of 59
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30.

For the graph on the right, determine if the slope is positive,

negative, zero, or undefined.
Choose the correct slope.

(O A. Negative g
(O B. Undefined

() €. Positive

) D. Zero

U / 7l ~ )
L L/
me 4
/’(, —
Answer: B. Undefined ( 2 ) / "(‘()
_ — (JJJ ~(7 1)

https://xlitemprod.pearsoncmg.com/api/v [/print/math

(7« z)

!F

24— b ‘
74-7.% 0 MW#W/

31. Solve the following equation for y.

y-7=-6(x-(-85))
y= l l (Simplify your answer.}

Answer. -6x-23

j 7—-—-6(){-— —5)) /
Yy < < —-G()(—f

Lj%/l%s(—ﬂ@—f@
< J ==X~ 23\

17 of 59
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32
Use the slope-intercept form to graph the equation Ay

y=—-5x+4,

Use the graphing tool to graph the line. Use the slope and
y-intercept when drawing the line.

v

'
S
o
=1
pS
r
o
&
o
[rel
=]

Answer;

B of 59 312972019, 9:20 AM
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33.
Use the slope-intercept form to graph the equation Gny

6 104
=—x+3. b
y=gx 3 8
N v 6-
Use the graphing tool to graph the line. Use the slope and ]
y-intercept when drawing the line. 4
2-

T X

0 B -6 4 -2 ] 2 4 6 & 10
-2
e
-6+
-8

Answer:
,_____\_\_-—'_._._______'_'_-_'_";_;,_'.;f—-'— : S — .
34. Write an equation of the line with the given slope, m, and y-intercept (0,b). j - m K‘ﬁ' b
m=5,b=6

The equation is . R ——

T
{Simplify your answer. Type your answéﬁn slope-intercept form. T._I_se integers or
equation.) T— Rt

actions for any numbers in the

Answer: y=5x+6

19 of 59 T e —— = 3/29/2019,9:20 AM
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35. Find an equation of the line with the given slope that passes through the given point. Write the equation in the form

e YU E=x) Y (U = (A= )
m=-4.(;(8,-2) V1t~ —¥(xX+P
The equation of ﬁk‘ne\iljr{e in the form Ax+By=C is 3 ‘4’!" L el —'(/—)( -3

(Simplify your answer. Use integers or fractions for any numbers in the equation.) 7 —+ r e /(‘; VI
Answer: 4x+y = — 34 7 T =YY — ¥

it S CFx—+y = =35>

36. Find the slope-intercept form of the line whose slope is 6 and that passes through the point (- 4,7).
Yy,
Y77 6X+2v
2% 7 X+ Ty 7

Answer: y =6x + 31 ‘j (7)“ 6()(_" ""c})
. ) =2 2 6 Ktir) N @

37. Find the slope-intercept equation of the line that has the given charactenistics.
-5 =7 ( X—

The equation of the line is

{Type your answer in slope-intercept form. ) 7 o’( - Iy C/_—,/, ) f'/

Slope -7 and y-intercept (0,5) (9 ."ul( T m C{--)A) 7___5, - _7&)
m XY ; =
The equation is = j’ (S’) “ ....7()(__ (0)) J= T4
(Simplify your answer, Type your answer in slope-intercept form. Use integers or fractions for any numbers in the
equation.) j = 37'7//‘5_ = ‘-7)@( A g

Answer: y= -7x+5 <=7 _{.f C

38. Find an equation of the line described below, Write the equation in slope-intercept form (solved for y}, when possible.

19,5 =0) 9= S )

4
Slope - =, through (= 3,-2)

What is th::‘aquation ofth;(llin:'!/ 17ric —-% (/(-K’S)

OA y=-sx+= OB, ye-tir 1+ = 2 __%L

O¢. y=-2x+2 OD. y=-2x-2 ) *Z/}/’" 26 j% —

on s )= 50 b= 5/9
4 12 4

e 0.2 g~ S -

20 0f 59 3/29/2019, 9:20 Al
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39 Find the value of x* = 5x + 1 for the given value of x. C* U L—-’S((-‘( } - ( <
o GO0 ==+ =
The value of the polynomial for x= = 1 is - (Simplify your answer)  / -+ ¥ [ <
61" / -

Answer: 7 @

40. Write an equation in standard form of the line that contains the point (- 2,1} and is
a. parallel to the line y =7x + 1
b. perpendicular to the line y = 7x + 1

a. Which of the fellowing equations, written in standard form, is parallel to lhe line y = 7x + 1 and contains the point

(-2,1)? Choose the correcLanswer below. /7= 7 (_ y \j.: 7)(—1'1 -
O A Tx+y=15 1-4,: e ¥ 77X :7/é/ [ s—7x
o 8. x+y=3 U}“(l\ 2 7()('*‘ (L)) ,.:7/(

7 -

A < 7 (L= 1) _l(‘?_%z) _((”@ path-by -
OC. x-y=-3 9~ = T+ ~9 4+ T~

(e AN AL

b. Which of the following equations, written in standard form, |s rpendicu to theTney=7x+ 1 and contalns s the point

{~21)? Choose the correct answer below. M :7L 9_2/ ] ) v 7 - _I - ...7 . , v

COA xo7y=5 X9 =4, = 1 Gt M7 X~
OB h=1 Y~ 1\ <=L (X=)) 79 _
OC. x-7y=-5 V=2%7% ~(£X-7+7

oy < e, 7 <
Answers D. 7x-y= ~15 (e ’(*— 7—7 o -{ — //(
A x+7y=5 7(¢1 () 7 7(_%) ‘7~H z

P R .C;?*; _///’ e

41. Find the domain and the range of the given relation.

{6.-4).3.-9.(-3,-7),(-7,-3)}

The domain i 15 . {Use a comma to separate answers as needed.)

The range |s— (Use aco to'separate answers .
Answers 6,3, -3, - 7 V”"“"'T((G/ 7)/ '-3/

-4,-9,-7,-3 e

—_—
21 of 59 312912019, 9:20 AM
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;/ﬂ):(//gz_

A0 < (1D

42. Given the following func{i_o-n-, ﬁr;d f(--'1), f(0), and f(1)‘ Z
fx)=x2 -2 76-'() < f”)Z—L ;//67 'C[())-’L
(= 1)=] /4-4): (-1 = |

Answers -1
-2
-1

43. Find h(=3), h(8). and h(4) for the following function,
hix)=2x* -3 ﬁfﬁ) z /7 (-’S)’L—}
h(-3)=[ | (Simplty your answer) / Yz 2(-)F3)— 3
ho)=| i(Simplify your answer.) é (-3)~ 2(5)—3

h{4) = |(Simplifyyouranswer.) /7 (_ 5 "C, / i'—‘ .}
Answers 15 =\,
=13

) A(9Y 2 270) >
Ac0) T2 Y3
é(o/ c2O/—3

200) T 92

(4)=2(5% 3

ﬁ[q)zZ(F’%‘f/'_j

Hiy) = L6) =3

z Khl—>

22 0f 59 — 32972019, 9:20 AM
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44,
Find the domain and the range of the function graphed to 4

the right. L_( [,L K,bl‘f j/ﬂ/é v\“z’::
Jom-L ~fo, n0 )

Y

L]
Y-
(=] -
v
do-1
Lo}

'

N
A
P,
]
&
€0 —
—
=

r&h}l___ [:‘lj W] :}
IQD'HJW\ (0% 5”'/74 4

The domain in interval notation is

The range in interval notation is

Answers (— 0o, co)

(1, o)

45,
Find the domain and the range of the function graphed to

the right. Lo &4 WI)L)F j/']/4 1

éum Cea (—- /Xj ()4)

Y

fevse (~og00

J

hotlsm fUp 979!

The domain in interval notation is [———‘
The range in interval notation is |—]
Answers (- o0, co)

(=00, )
e

B — .

23 of 59 3/29/2019, 9:20 AM
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46.

Find the domain and the range of the relation.

domen [5) LA rUAS
reny (=22 o) bty Ay

Choose the correct domain.

A, (=00,5)U (5,00) ) B. {5}

1€, (—o0,00) 1 D. None of the above

Choose the correct range.

) A, (=00,5) U {5,00) ) B. (- 00,00)
1 cC. {8} ) D. None of the above

Answers B. {5}

B. (- o0, )
o ——
o — _——r'-_-_-h-_-_.-_
47,
Find the coordinates of the point of intersection. ﬁv
5

The point of intersection is .

(Type an ordered

| 1234568

Answer: {—-4,1)

S—

48. Given the function f(x)= X2 =12, find the indicated values.

a) 12) b) fa) f( )<Y /e
a) {(12) =| (Simplify your answer,) //(( i)- (/ 7/)( )/
b) f(a)=:] {Simplify your answer.) /(-l ’L) -/ (/V "f L

Answers 132

al-12

I
24 of 539 e L= —e——— 3/29/2019, 9:20 AM
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49. Determine whether each ordered pair is a solution of the system of linear equations. ( I Z/ )
/

[x+y=3 )(ff‘? <3 ((Z’,’;) )(,.{7 ) X v

2x+ 3y=7 RV =) =
a. (2.1) 7 >/(5/§ 2+ '7 -7 /
b. {1,2) (2)-1) | =3
a.ls {2,1) a solution? Z,_.{«( - 3 y (ﬂ’{ ('1)’-1' 7
O Yes P 3:—}-—'4_‘7':_— (+2=2 VES

O No 2(;)_-{' ()< ] (/___,3;3’———/ |

b. Is (1,2) a solution? ‘f"‘3 =7 / 2(() — é(/c) = 7 /
O No 7<7 2+ 7 /
O Yes

I A2 R | o /
Answers Yes Z; /) /5‘\ ”'( -l} L) “‘“-\M 0 ;"f

No / /
- _S U (lr‘- {’V ."'f
s — — e :
50. Sclve the system of equations by substitution. When solving( x = 3 i5 obtained. e T—

y=2x [ =203 ~(r(6)c—¢

caxty= -6 926 D) suby Yy—r( oL
(e A

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

—¥X = -t
() A. The solution is . B _
{Type an ordered pair. Simplify your answer. Use integers or fractions for an mbers in iﬁ'é‘\\ \
expression.) ~§y [t ) AR
{0 B. There are infinitely many solutions. e :{,’" } a'l

() €. There is no solution. _,7
Answer: A. The solution is (3,6) .

51. Solve the system of equations by the substitution method. _,}’? 9/-V ~ Z*’:%‘: / S""/é.” : (X &3 }
e swhst 2 (Geey )~Fr - 9 X< /r SubsE
{ N+ 2—YKersy $Xo 1 7 ) H/
btz 1y LT @

= €
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ‘7 9 ( 3 / "f/

72/2-1‘/

2y-4x=14

) A. The solution is . {Simplify your answer. Type an ordered pair.}
O B. There are infinitely many solutions; {(x,y)ly = 4x+ 1} or {{x,y){2y - 4x =14}, '7 = /3
() €. There is no solution; {} or @. e ——

Answer: A. The solution is (3,13} . (Simplify your answer. Type an ordered p

g T . ___._—-—'_'_._ L
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#rc g7 S H(5)+69 77

52. Solve the system of equations by the addition method. 3 (o ¢ 4 ] .
= o rey =7
\-\. - 3 — api—
{4x+6y=8 7)(7{-0 -—)f . 50/7&(7714 L I lo
Select the correct choice below and, if necessary, fill in the answer box to complete your cr:B ce. 6‘1 - —/ [4
o

7X< 35~ 6 G
) A. The solution is _ . (Simplify your answer. Type an ordered pair.) 7 7 ’:ZH""‘\
() B. There are infinitely many solutions; {{x.y)|4x + 6y = 8} or {(x,y)|3x -6y = 27}@

() €. There is no solution; {} or @. (A/I

- =3y—tkgzo |

/2 . - -Gy 0
BIX + )2 = 8 7

—_—— 7 7 i
10 o< Y _
Py = 8 i 5 ¢
Select the correct choice below and, if necessary, fill in the answer box within your choice. N ¢
we. %y - L
) A. The solution is ~.{(Simplify your answer. Type an ordered pairm ¥ ] ¢

O B. There are infinitely many solutions; {{x,y)|x + 4y =0} or {(x.y)|6x + 3y = - 21}. :
(O €. There is no solution; {} or @. _ J

Answer: A, The solution is {-4,1} | {Simplify your answer. Type an ordered pgir.

Answer: A  The solution is {5,-2) ] {Simplify your answer. Type an ordered pair.)

53. Solve the system of equations by the addition method.

-2
x+dy=0 {’f‘{"j zP )/S’
Bx + 3y = —21 %%7 =71

5‘ =9 >+~ e
54, Two numbers total 44 and have a difference of 24. Find the two numbers. ) )(-{-(7 il (( (/

The larger number is , and the smaller number is -~ 3 ‘r"‘"j - Yy
T 7 i‘-f:,r T Yy—3 o

X9 =% <63 e
Answers 34 (,__,g 17 2;{ 2 < % 6 @ 3

0 . L -
L0t 67 Z?'xf 3 (/’ (34,2

55. Jen Butler has been pricing Speed-Pass train fares for a group tnp to New York. Three adults and four children must pay
$92, Two adults and three children must pay $65, Find the price of the adult's ticket and the price of a child's ticke

The price of an adult's ticketis §, |, 3/4 ~ EC < A y (A
The price of a child's ticket is $(:}, Z_Ld ~+3C = ﬁ _C' — T'

Answers 16 i /4‘(‘ QC - ? jhb{[
11 A~+3C < 65 3A~+¥C=7

3 ( /C/‘f¢C 22

kiﬂ’-f[’ZCC. 260 %7‘({(“%’:?’&——(/3

~(At0< 76  JSCTT
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56. Kevin and Randy Muise have a jar containing 67 coins, all of which are either quarters or nickels. The total value of the

coins in the jar is $12.75. How many of each type of coin do Zr}ey have? . e a
. . qj_('/t/: 7 X ’ ) . 'z_ v('_)
The jar contains iquarters. i fql 4,05 "/Z. Vs @“L—?
The jar contains i nickels. 03"6{ —.gsAST -3, 3 J
Q=67 WIs@ oS = U2 % 7=
Answers 47 )7 (Q__f JOFTA, T /Z, == g _ 7 TW"__Y?‘Z(7.—(/7
20 W2OR O ALY >
SR Q<Y GuTs (17,23
7. Simplity the follg in‘g}lf/ressifﬂb combining the like terms. _ﬁ_—_::——____,___h____x_ S—
8a® - 8ab + 3b” - 2a° - 3ab + 5b° @ a“—ilab —+ ﬁ’ét
p——
8a% - 8ab + 30 - 2a° - 3ab+ 5b° = A -

Answer. ga2 — 11ab + 8b°

58. Perform the indicated operation.

: —
—/OX — 1T gxl 'f,/cf’ff/oc

i

(- 10x~ 12} + (8x> + 10x + 10)

(= 10x=12) + (8x2 + 10x+ 10) =| | (Simplify YOuran@T D
X =
Answer: g,2 _ o

—e— — -

l
$9 39 =7 Ty -TF=
(sy?+#3y-7) -(-oy+8)  —
(sy?+3y-7) - (-9y+8)=i | (Simplify your answer.)

59, Subtract.

Y

Answer: 5,2 4 12y - 15

L. — —— =
80 Mulliply: o, /5Y L7 X — 30X + 5¥ -
(3x-6)5x-9) =

{(3x-6)(5x- = ] {Simplify your answer.

Answer: 1552 - 57y + 54

Xt — 57 x 5 =

27 0f 59 3/29/2019. 9:20 AM
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61. Multiply. = T~ { 3 - e -
. Mu |'/.ﬂ_§_\ - A L ~Tn
x-6)(x2-7x+3) 7)( o< ~Cx —~+ Y1 X — ¥ =

x-6)(2-7x+3)=[ | % N .-
praver 155 &’” ’f“f\'(——ugp
nSWer. x> - 13x° + 45x - 18

T~ SR

62. Multiply. g 3 —
(x@) ® )( Cf*/ ’f3>< *T’S‘)(-—ZJK Tis <

("*‘5)(*3?4**3) = X — 5 )( ...-—- Lf)( Sk ~
— ) ¥ /f \
Answer: o 1 5,3 — 4x? — 17x+ 15 e
—_— M_.f m— e —— . =

63. Find the followiing product. 36@ — 20a% — g — GJQ + 35‘6\-—57 _

(4a- 7)(9a ~5a- 1)

(42~ 7)(9a-5a 1)- @736{ —(-’H((;'-f-'?’ '
Answer: 3553 - §3a° + 312+ 7 %

64, Multipl:gnﬂy\__ {‘f)( — 7 >< . 667( —l\ =

(Bx-11)6x+1) =

@x-1)@x+n=[ |

Answer: 1gx? - g3x~ 11

65. Multiply vertically.

3
(< +4x_:“l(.5}--+8x )2 /G(—{' 29 cf{ T &’)(”f' 3x ’/@X
(x +4x = 3) (53‘ +8x- 4) :(Simplify your answer.) /\X/l T ZC{{ w

Answer: 5,4 ;. 28,3 4+ 1352 - 40x + 12 )( ,_{_. 2,5]( ,{- /)X L___ V‘-’K’(‘ﬂr’\

K-_
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66. Find the following product. (7 {’r‘?) / IA+F) <

~

(9x + 8)°

(9x+8)° =

ANSWer: g1y? 4 144 + 64

Bt X AT #6

E M
DIx T/ 7G>

67. Find the product.using the FOIL method.
K-_-.\
(7x+3)(4x~1) g

(Tx+3)dx-1)=

Answer: 28)(2 +5x-3

68. Multiply.
(2-6)(a+6)

N/

o 6a ) =] | (Simplify your answer) 0-\ T 7@(_\ -

Answer: o2 _ 3¢

s e
69. Find the product.
."H-'_-_‘_"
(5x-9){5x+9) =

(5x - 9)(5x +9) =

Answer: 55,2 _ g1

—_— —

o S i K\K‘\-

Z«"Xftl%jﬁﬁfz:—— “AX — F I

.——.:——-—-—"'_'_-_._-_.-'-L-'_._
70. Find the product.
(6x - 2z)(6x + 22)

(6x-2z)(6x +22)=

Answer: 35,2 _ 452

"“'-\“_____‘_

9 of 59
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5 3

2x2(4x3_.3x+8) - 8)( - 6 )( L
2X2(4x3—3x+8)=: —r /CK =

Answer: gy® - gx3 4 16x°

71. Multip]%'ﬂ\m\omial and the polynomial. —

72. Multiply.

oo A T 2"(/ T 8y

(9% + 8y}(9x - By) =

< fix—6 ¢ \

73. Simplify. Use positive exponents far any variables. Assume that all bases are not equal to 0.
" p-f
p —

q7° = -
p” 3
5 - (Simplify your answer.)
q
: 5
Answer; q
3
P
e —
—_— — — - —_— - ——l——-—__._:-_‘_—;‘-_\_\_\__
74, Simplify. Use positive exponents for any variables. Assume that all bases are not equal to 0
X -5 { l—'r
x~8 ' ~
(=
=15

(Use positive exponents only.)

Answer: 3

>
\

—  — _'__—'—-—-_._‘___‘_-_
'-‘_\-‘_H_'""—'—-—-_._____—____._-—-—-_'_'___ 3 3
30 of 39
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75. Simplify the expression. Assume that all bases are not equal to 0.

~#-s) é7( 5)

- -5 =
(a=*") -
(a=%b7) 0. (Use positive exponents only.) & (&%) é —3 S:
Answer: ;20 O T
= <

ﬁ ‘{6—;2‘7(’) /

(ap™7) ~° -
(5a2b~1) ).,/(wl/aZ(-—t)é'/f*Z)t:‘
(a*~7) -s —~20 éB >
(5a2b'1) 2 03 —
-2 ._c,f 2 T
Answer: 55,33 la 5) b 53 3y —
S5
d‘?rzi T
-F;_._H_,...w:i—-_..__,:—— e = e —— — T :
77. Divide using synthetic division. @ X + /7 X~ ‘T Uus, }7 ,,/A 4 [/(. i 1Ll
(6x2 +13x+9) +(x+1) %f/
(6x2+13X+9)+(X+1)= ’ l ) @ ['3 ?

Al : 2 .
nswer 6”7+x+1 7 @ l/'("lf‘—-;

-“-‘-‘_‘_-“'-—-___-_-—__-_'_,_.-'—"FF
78. Factor out the greatest common factor from the polynomial.

vz SA+CY¥ <

3x+24= l: (Type your answer in factored form.)
‘,/

Answer: 3(x + 8)

(- B

79. Factor out the GCF from the given polynomial. 3 C /( . Z <
36x-2

2= ] 2({5;(-——Ur>

LS

Answer: 2{18x- 1)

_-_-._u_-___'___'___-_‘_-_-__\— —
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4
B0. Factor the four-term polynomial by grouping. { -1 Z/( "('Z )(—f »/ <
X° +2x% +2x+ 4 ([ 3”‘{"2)( C) _{_, ( Z/("’f(/) —

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

OA P io?ioxtas )(Z(X+Z/ '_f’ Z()("FC)?-

() B. The polynomial is not factorable by grouping.

e —

—_-_—_-_-"""-n

(e D £ ™ =

Answer: A. x° +2x2 + 2x+4 = {(x+2} (xz + 2)

81. Factor. 32 )(7 - 6)((_:_

32xy - x>

32oy-6x=[ | (Factor completely. @ l 67 o 39

Answer: 2x(16y - 3x}

82. Factor the following polynomial. \37\,—\___
—~3C X — G S5
- 36x3y7 - 45x5y6 7 2 )( 9 =

- o
- ? — - k
= 36:3y7 - 45x5y5 = (Factor completely.) C%( 7 G ( ) j X E*—T .
“"% ' |
Fa
Answer: g, 35 (_ 4y - 55%) :

—

83. Factor the trinomial completely. /ﬂ() S¢y [,é‘
x? - 12x+ 32

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A X% =12x+32= {Type your answer in factored form.)

"\._____F_____‘-
() B. The polynomial is prime. ()( - C()é<— f) 3
Answer: A, x> - 12x + 32 = _ (Type your answer in factored form.) Cj’l -PQ((

L=
(—<) (=0
b —x v x +3LF

)(L"'*/Z/-AEZ:

tl

320f 59
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oS5 .
84, Factor the trinomial completely. /( 5_ )( 3 ( “

x* - 5x-36 ()( -1-@ Q(..... ) :_ .
Select the correct choice below and, if necessary, fill in the ans ele your choice. C}) -((,k

X+<) (XS
O A X2 - S5x-36= (Type your answer in factored form.) 'L(/ —\—)———("’ ) )
() B. The polynomial is prime. X — 9ot S’O( —f6<

L |
Answer: A. x% —5x 36 = (x+4)(x-9) ] {Type your answer in factored form.) X "'" S ’\/ . j G =
S oo d .

—T - - r—

85. F;ctorthe trinomial completely. ‘}"'9', / \\ "7-6 —_ (_/(/._f C (& .
LT 1
d ' —+T7€ —vqy =

illin iﬁe answer box to com eurchouce- —

— ) (€ '*/D\v

7t-44 +12

Select the correct choice below and, if necessary,

O A. 7t—-44 +t2 = o {Factor completely.)

() B. The polynomial is prime. C«/’l'(‘-(x. (_é Cf)( &+ | )

Answer: A, 7t- 44 + {2 = (t-4){t+11) (Factor compietely.) 6 (_—F (( ~é “ é s
— Guud S +76 vy

B6. Factor completely.

32 +17x+20

Bx + ) (xt¢) -

Select the correct choice below and, if necessary, fill in the answ to complete your choice,

S—_‘_’!’Jﬂ:{:t"_ — 2 o
O A 3% +17x+20= (Factor completely.) ( 3 )(--fg” ) (/(‘fa(p) <
() B. The polynomial is prime. 3K L_+ [Z A~ S'/(.——( 20 T

Answer: A, 3x° + 17x+ 20 =[ (3x + §)(x +4) | (Factor completely) 5 X —7" [ 7 N+ =
Goad

— ____\__._'_,_,._,'—-—--—,_ L A : e _7 : S . - -
87. Factor the trinomial completely. Z{ . j— _( $ =z a a
2
2t bios (1) m

Select the correct choice below and, if necessary, fill in the answer box tg comp

Ch+ -
O A 22 _gx-5= B (Factor completely.) ( 2 X1 ) ()(-"{) <
(0 B. The polynomial is prime. 2. “"/_:;( 4 (A~
- i Y
L

Answer: A. 2x% - 9x~ 5= {2x + 1}{x = 5) | (Factor completely.} Z )( ol q X — S 2

- . B - _.C:.'.C? (,L{{'

\_.._
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88. Factor the following binomial completely.

100x? - 169y°

Select the correct choice below and, if necessary, fili in the answer hox to complete your cholce

/L»U,( “/69‘7 <

OA 2 2

* 100xT - 169y" = Factor completely.

y ( pletely.) ( /u;é) ( 13 V))
) B. The polynomial is prime.

., | @—f /3’7)(/0;(——/3'7&
Answer: A, 100x° - 169y“ = {(10x + 13y){10x — 13y} (Factor completely.)

89. Solve the equation. | - (‘(k’ 5") ( X‘T'(/) 0o

(x-5)(x+4)=0 A—s = O O X+Y¥=o

o M (=55 =075 O X+tY—y =0~y

(Simplify your answer, Type each solution only once. Use a comma to separate answers @/j
—_— L(
—
Answer: 5,-4 @

90. Sclve the equation.

3x(x-7)=0 3¥=0 OR X—?zo
| | (Use a comma to separate answers as needed.) } 7z .CL O /’ X '—'7-1“ 7 s ()"/'7

Answer: 7,0 ( F A G )

T R N SR A T

91. Solve the equation. (}—X"f 6/(2}(-—7 ‘) 0
(5x +B)(2x-7)=0 5X+6 < o ’ {(**7 ZU
§X+6—6< O,,g O X=1r7z067
{Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.) Z X< 7
Answer. 6 7 SX =« -G on -7
5'2 ,—-P‘{"“ £ - 6 -,
- =) 0 XT4)

e s ———

92. Solve the equation. )( 2-,___11, /( ,7,_3 /=W
X = 12¢+32=0 (K - @) &=F) <o
x=[ X—¢ —o OK _)(—--5:‘:0

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Answer: 4,8 Xﬂ (/-f(/ = f(/ dK X ﬁ'f'i‘—’O 7(;
=

34 0f 59 3/29/2019, 9:20 AM
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93. Solve. {’TS-,(——/(/ZO .I;:/:\(‘\ ?
X% +5x-14=0 ] ()( o 212(5,"‘" 7) = ©
] (-2 T o O X7 = O

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

X-1-+1=07% XA B=]

Answer: -7,2 @ Oﬂ— @

94. Solve. X L—— /Ox = O -
X% = 10x=0 {( {‘_/ o) =O
=[] Y= 0 ox X U=¢9
{Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.) (’/
X< — Gz 0770
Answer: 0,10 O O/c X ———
3 -+ = e
95. Solve the equation. L Xtl? =0 ot A ~7 =5

x2 - 5x=14 X '—-S’X 4 (/

Xt1-L=v—C O f-).p
7 U
x=| = X -s’)<-“(</v—/‘/ g . 7
(Use a comma to separate answers as neleded) / @ /] ’(

Xt—sx 794=<

Answer: 7,-2 (t(_‘f' Z)(J(_?L i,

SRS e
96. Solve the equation. ){ —( X 'T“Z? X =0
x> = 12x% +27x=0 {( 7(1*-[2, X 27) Zo
x= ' [ (/( - 3)(( s cbf-—

(Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)
Y=o 04 X-3zo o4 )(—-? e

Answer: 0,39 —n ot )(ﬂ’}—f—h()’ﬁz. ol X— i | "O—ff
o {’T’_J 0 XT3 9t (=9 O
97. Solve the equation. Z/ 5 P( — Xz o
263 -x=0 X(z5sxt—1)= o
o X( EO—)) =0

{Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

Answer: 1 1 (S—X*()[ﬂﬁ():—
055 fco 0K SN[ =o OR  SA~(=o

o oA fl'('f‘f’—fZU"_'/ " (- S(_W o~
co 0/ 5X=" 0 $X e

S")(::.- ol _
x/'-a) o0 S F ot FEE

(Y= TRATT) 047 <1
oy I 5— — 1292019, 9:20 AM
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Z S 0
98. Solve. )( -9 = T
At— 3 FULX =l - g/
x? -8= -2x L — D 2 £
X Pl —3F =
) — 2 x4+ ¥H=-o

<
(Simplify your answer. Type each solutlon only once. Use a comma to separate answers as needed.)

Answer: -4,2 J(*"l*l U"f‘L oA X+ — ¢(J~\/

—————e—Y§€_"“"_NY g _X/_&hﬂ_ Q.:,L_-__:(:/ _,

99, Solve. 7/( - 6)(‘- {
7x% ~6x-1=0 (7 D &..._ D O
<[ TA#[ TO A~/ = o
(Simplify your answer. Type each selution only once. Use a comma to separate answers as needed.)
I+ (~(zv—] X—(#(Z 0—r’/
Answer: _;_'1 7)(; __l/
—_— L 774 z -_5 Xz~

100. Solve the equation. C/ X ,_/ 7 l{ o = : 4;—5‘{5
4x% = 12x-40=0 (/C )( _.3 )(,-/0) < T
o — ¢ (x +2)(x—5) ==
{Simplify your answer, Type eaﬁc;ywﬁ only once. Use a comma to separate ans?rs as needed.)

0/( X"‘FZ = /{ — <= O-___
Answer. —2.5 /(_Fz;_ T 07/5‘_

= ;
101, Solve, X —+ 1o /("f"/(.)..') - D
X% +20x+100=0 (x + 19 (K+/2 =
x= Y7/0=0 O X775«

{Simplify your answer. Type each solution only once. Use a comma to separate answers as needed.)

X700~/ TO~/° 04 X+/0 vt 070

B Ans-v.ver: =10 ) @ 0 /(g—\ _/;2/)

*\r .
102. Find the x-intercepts of the graph of y = (4x + 3)(x - 9). d )( fen [(/C ,L A ,L 7 o
The x-intercepts are l N ( y)(—f'S) / f( Ci)
(Simplify your answer, Type an ordered pair. Use a comma to separate answers as needed.)
YX—+3 = O X—F o

Answer: [__‘3?.0] ©.0) (-f,}/-—{-) ~{ cJ—2 O( (_?ﬁﬂd_f{,

/l/ s

k______‘___‘_-_ 2
36 0f 39 3/29/2019, 9:20 AM
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/ v /(-*I/J((fcw/r /UL \/*’O

103 Find the x-intercepts of the graph of y = x° - 2x - 3. O = /Y

The x-intercepts are{ O T ——f‘ l)dg

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as nee

Answer: (3,0),(— 1,0}

104. Choose the graph that matches the equation.

)(—f/z/u X—7 =
X~ 2O=(  X-Fri=vry

y={x+1)(x-8)

OB Q. )("‘L ,('-:"3?\
-20 20 i
o Lo
Answer:
2
-20 20
2
o}
105. Maich the equation with its graph. )( ( YAt )TO
y=x(x+5) (c© 01 K<5=o
Choose the correct graph (: an /( T o
ic. oo. XCTo ga X=-5—
¥

Answer:

370f39 372912019, 9:20 AM
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106. Write a quadratic equation that has two solutions, 9 and - 2. [ - C’? O/C /C"‘:’ Z %:_—
Choose the correct answer below., )(- “"CL o (7 —'ﬁ O/L )(-’L < 2 'h?_

) A, x(x-18)=0 ) X CI_ O S _dﬁ__ X 2 e

OB, =~9%(x+2)=0 e

H\-\.
O C. (x+9)x-2)=0 M{K—”Z) - ¥
OD. (x+9)x+2)=0 el
{JE. 9x(x-21=0
< T (x- 9)<x+2) )

Answer: F. (x - 9)(x +2)=0 e g .

107. Find the dimensions of a rectangle whose width is 4 miles less than its length, and whose awﬁ' miles.

The length of the rectangle is‘ miles. | i =Y, L"Fﬁ = | IR ~[?7 = &
i s T Imi L. ﬁ—-f o-7 .
The width of the rectangle is mlles.l ( L—y } 96' a? (_( £~
Answers 12 2 L — ¥ =
; (5 —4{L~-56=0 .

108. Simplify the expression.

-2a-2b
a+b

Select the correct choice below and fill in any answer boxes in your choice. — 2 ( G : 4 )
-2a-2b )
O A. 2 = i i (C( ‘1— b

(Simplify your answer.)

at+b
(O B. The expression cannot be simplified. — Z /
A A -2a- 2b =2 |(simplty )
nswer: implify your answer. —3:,._‘_\
C —— Z_ (&
109. Find the quotient and simplify the result. é )( 7 ?‘ : )
P 7
ext  axty® ‘7 3 3 X ‘7/7
5+ ,
y /
2y
6x* 3x‘ay3 T

y—a-a- Z = |(simplify your answer.) 3 /Y q7 33
Answer: 8 Z/Y L( '

. G
y° S X 17 :

38 of 59 3/29:2019, 9:20 AM
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110. Add. Simplify the result if possible. ( SF) '75 / 94+ri )
<
5 y+2 — gt
8+y B+y i 7

5 e s799—+L .

Bey + Ty = (Simplify your answer.) 2‘7_{7

Answer. y+7
8+y

111.  Solve the equation.

{:"3" I
7(&—5)° 2(8) (rss muft

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. |

72- 3(—2?—

z-5
2

~| M

J A. The solution is - 2 =3 / - 2 2+3 ;f
(Type an integer or a sumpllﬁed fraction Use a comma to separate answers as needed.)
() B. There is no solution. 7 & < 2é& +3¢ a/
_ 72 L& T ﬂ 3 —2
Answer: A, The solution is 7 } rd

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

C——

—_— e e e T ————

112. Write an equation of the line using function notation. /‘U g 'Hﬁ / 4 - )
Slope 0; through ( - 2, - 5) Slop<m <O
The equation of the line is f(x)=| |, = (1( T (X ”"(tf
D= (~s) = 0(Kx- (~2)
= V500Xt y)

113. The function f(x) = 0.23x + 12.3 can be used to predict diamond production. For this function, x is the number of years
after 2000, and f(x) is the value (in billions of dollars) of the year's diamond production. Use this function to predict
diamond production in 2002.

The diamond production in 2002 is predictedtobe $| | billion. ,{"( I S0-2347 /Z' K
(Type an integer or a decimal.) ) =
ZUJZ—- /(2)“-0023(2/7#/?“5
Answer: 12.76 — OV //(2) - 0' ? G '7L/Z' j
O (B Fe) = 75'““)
~ (L350
/ ’Lv 7 6

Answer; =5

_‘_\_\_\_‘_“‘—‘—\—._
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114, Ify varies directly as x, find the constant of variation k and the direct variation equation for the situation.

y =8 when x=24 \/ Vet éh/-(:.,(fy as X
Find the constant of variation k. ‘j T <X
k= [: Type an integer or a fraction. Simplify your answer. -
(Typ g plify y ) ¥z (< (2‘/)
Complete the direct variation equation given y = 8 when x=24.

y =| (Use integers or fractions for any humbers in the expression.) .
o ,Z. ~ f.‘ffé
: VY Y

Answers 1

115. The amount P of pollution varies directly with the population N of peopie. C::EA has a population of 442,000 and
produces 260,000 tons of pollutants. Find how many tons of pollution we should expect City B to produce, if we know that

its population is 350,000. Y <k = SYY 355Gy
City B produces ! | tons of pollution. ‘j = O S—Zf 235239/ X

{Do not round until the final answer. Then round to the nearest ton as needed.)
2600 = kK (¥%140 ) =

Answer; 205,882 7 ¢ doowv I [ y;(g__ﬂ-‘_,_'u)
Gy oan | &%eoou

CAALICLH (350050

116. Solve the absolute value equation. —
/ X [ceC ™~

[2x-7| =9

Select the correct choice below and, if necessary, fill in the answer box to eomplete ygur choice. Hl
——c U 1 /( = Ci

O A. The solution set is { . -

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

(0 B. The solution setis @.

Answer: A, The solution set is

{Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

o R z[gx/_._?/ ot SN
X —7= —9 o L¥x—=7z 9

ot UW-p%7= 7
oA Ly < /¢

e ——

W0of50— 32972019, 9:20 AM
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117. Solve the inequality. Then graph the solution set.
|x-7<4
Select the correct choice below and, if necessary, fill in the answer box within your choice.

(O A. The solution is one or more intervals. The solution is

(Simplify your answer. Type your answer in interval notation. Use mtegers or fractions for
any numbers in the expression.}

O B. There are only one or two solutions. The solution set is { !
(Type an integer or a fraction. Use a comma to separate answers as needed. )

(O €. There is no solution.

Choose the correct graph below.

O A, OB
<} } H—i—) M—H
-20 0 20 -20 0 20
Oc O .
M—ﬁ <« —@ & >
-20 0 20 el 0 =
OE OF

A
.
[\ S
o
O
B+

v

2

Answers A. The solution is one or more intervals. The solution is [ {3,11) .
{Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the

expression.) / &ﬂ
G

—)—t> /vV/<a 2
o Sl il

A

>
R -
(=]
=
(5]
=

el X
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7¥] >4 ——_

x+1|217 {-—f{ é__{’) o K'_{_.‘>/[7
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
Yol A €47 od XA~ Z (7~
O A. The solution is one or more intervals. The solution is (’_:_ ,( é_—pfi on )( ;—/—_
e Al

(Type your answer in interval notation. Simplify your answer, Use integers or fractionsfor—
any numbers in the expression.)

118. Solve the inequality. Graph the solution set,

»
~
-

O B. There are only one or two solutions. The solution set is {_,,..-----"‘

— N
{Use a comma to separate answers as needed.) - .ﬁ N -
() G. There is no solution. ( _".'."l i E = -

Choose the correct graph below. e — i
(22 i v [ 6, 0)
B. -18 -~ % P

o,

O A -18 16 O B
B 20 0 G 10 20 30 30 20 0 0 10 20 30
Oe. -18 16 OD

Answers A, The solution is one or more intervals. The selution is |( -o00,—- 18] U [16,mﬂ.

(Type your answer in interval notation. Simplify your answer. Use integers or fractions for any numbers in the
expression.)

-18 16

C. 30 20 10 0 10 20 30

119. Determine which ordered pairs given are solutions of the linear inequality in two variables.

X=y>4; (2,-2), (9.4) Y— 9> Y (2, -0
Is the ordered pair (2, - 2) a solution to the inequality?

(2) ~(-2) >v

O Yes i .

) No 2 Tt >y

Is the ordered pair (9,4) a solution to the inequa!l‘tyh? (-/ 7 (/

) Yes - 1 (
O Neo X ‘j 2 (f 4

Answers No CC‘) ’_(C/)) > ({
Yes 9 =YY T v

42 0f 59 3/29/2019, 9:20 AM
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120.
Graph the inequality x +y =1,

Use the graphing tool to graph the inequality.

Answer:

hittps://xlitemprod.pearsoncmg.com/api/v 1 /print/math

37
&
&
EN
'
£
-
]
]
o
—_
[=]

121. Determine whether (1.1) is included in the graph.

2x+7y<10

Is (1,1) included in the graph?

) No
) Yes

Answer: Yes

2 X~+79 </o (i, 0
2 #7 (D) & o T
L ] < o

9 < /o

| }/ﬁ§ -

43 of 59
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122. Simplify the radical. Assume that all variables represent positive real numbers. 2 2 5. a i éz b

|/ 2528526 ﬁ’
T

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. | S a

1 B. The square root is not a real number.

DA o802 . S"a qé [3;)

Answer: A, J 25a3b26 =| Sa'b
g
123.

Identify the domain and then graph the function, using the
table to the right.

X

2

f(x)=4/x=2 e

6

The domain of the function f(x) is | f '

(Type your answer in interval notation.)

f(x)

Complete the table to the right.

Graph the function. Choose the correct graph to the right.

!.[(z)f:(/sz ~Jo = ©

AH6)

Answers [2,00)

0

0.

Y — \_. e
@)ma o L2y fi/,,i
o |
44 of 59 &K = [ Oj —//// 3/29/2019, 9:20 AM
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Ry
124. Use radical notation to write the expression. Slmpllfy if possible. Assume that all variables represent nonnegatf\'re 7

quantities. Cf ’ X ) 3 L/{

l /

. 8) o "su
(81x®) X )

Select the correct choice below and, |Lnecessar3?f ill in the answer box to complete your choice, 3 (/

LX L MAA Pow >

2 —
OA (a1s®)? - 3Ly 1 5(-—
{Simplify your answer. Type an exact answer, using radicals as needed.)
() B. The answer is not a real number. ? e 3 34 Y i

1
2
Answer: A. (81):8) = ax* (Simplify your answer. Type an exact answer, using radicals as needed.}
—— — : o Emo e —
— R /4 v LRIy
125, Use radical notation to rewrite the expression. Simplify if possible. 7 : / ¢ J
3/4
16 (b (77}
Selact the correct choice below and, if necessary, fill in the answer box tc}_ﬁomplete your choice. 2 C?/

e ( g
(Slmpllfy your answer. Type an exact answer, using radlcals as needed.)

() B. The answer is not a real number. 2 (( = / 6‘ 2_

Answer: A. 16° -| {Simplify your answer. Typz an exact answer, usmg radicals. as needed.)

* .12 <
126. : (/63 = i ///nu Z, 5/1;2 [/;73

Simplify by factoring.

Yon (53 =
Jﬁ ﬁ ' T {Type an exact answer, using radicals as needed G A 3

3!
Answer: 3./7 ﬁ V— .
. IEY =R )

127. Simplify. Assume that the variables represent nonnegative real numbem--_..
2604/ =
{36227

Answer: gah3 /iy
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(u") ~V7VG ~VIVE 4 a4 13-VTVT

128. Rationalize the denominator. / l

G-Ve ) w7 -G vTve— v/ |
(ot Jave ) —ire 1 EE

7 - 6 [ 3 —2ve, Ty
J_ ’\/_ (Type an exact answer, using radicals as needed.) Q:‘

Tl ———

Answer: 13 -2./42

129. Solve. Lm)(— . (Z_;Z—______
Px-11=2 Y—i( = &

Select the correct choice below and, if necessary, fill in the answer box to completeﬂrc ice.

- Y77/

'S 1 Al T =
he solution(s) is(are) x= /{/ = /
(Use a comma to separate answers as needed ) O /, '“K —
() B. The solution set is @. —
h Vrs—( = 2_
Answer: A. The solution(s} is(are) x = 15 . (Use a comma to m an‘éﬁve?s as needed.)

i ‘—_\_T:__. _2" :__L . _6-_0\-_‘-) _6( FRF I
—_—_
130, Solve. % ) - Ui Vd ) =2
( (/ 1) T (/- ..
x+1=4f2x-7 (’f{ — 2,)/___7 &
Select the correct choice below and filt in any answer boxes present in your chcm:n

A< =7~ |

OA x= {Simplify your answer. Use a comma to separate anst'ers as needed.

() B. There is no solution. X < &X 5 [Af_-_
— 7
(X—~1x = 3 —k W 5
. vq
Answer: A. x= (Simplify your answer. Use a comma to separafe answers as needed ) _
~(X = —F Coudf 3°
\“‘-‘-‘_‘_’_’—'— T ﬂ—-—|— = .

131.  Use the square root property to solve the equation. The equation has real number solutions,

(x+9?=4 C/Wz +
xs[ X+g = T L

{Simplify your answer. Type an exact answer, using radicals as needed, Use a comma to separate answers as needed.)

X+9 == on X+5%
Xt G- =—0=9 0N X¥i-T=CT

Answer, -7,- 11

C/l ﬂ/c_

A Cy o
.y 1) =7 )=
6’7) 7)<y (L "2),) = y(/
d z
46 of 7 G’U‘ebt Sﬂ 7 G—O‘J C!’ i _3/2912019. 9:20 AM
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s =71ED
132. Use the quadratic formula to solve the yuﬂionﬁ, Z-
A2/t qc | - 73 = /3
{ m?+7m+10=0 g L= dn P

Gl __b=7 7

. o=
ms| | M= -—_(7)*U£72L‘-Lf 49D) /e A2 oL mz "%

(Simplify your answer. Type an exact answeréﬁsqng radicals as needed. Use a comma to separate answers as needed.)

Answer. -5 -2 m . _7' = m 7‘7 ':--;:}_\‘5 Ofd@};@
M < ‘2'*H S e .

4’_-_
133. Use the quadratic formula to solve the equation.

h, —

x2 +6x+13=0

.

The solution(s) is/are x = S !

(Simplify your answer. Type an'exact answer, using radicals and { as needed. Use a comma to separate answers as
needed.)

Answer: =34+2{,-3-2{

[y eiri>=o
) [9'(6/ C =)
Y= ~b 5

xS

K= -(6) 2V =Y (1))
lCt)

)(< ~6 136 - 52

S ——
T

s |

)(t*éi(f“
[

- -6 2 YA
o ==

/\/’Z-_—fZ‘ e

- =2 "Zdﬁ Gt < ’5*&1

R__h— \"——_._*_____/‘/ B TS )
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134.
Sketch the graph of the quadratic function and the axis of

symmetry, State the vertex, and give the equation for the
axis of symmetry.

h(x) = x% +1
Use the graphing tool to graph the function as a solid curve
and the axis of symmetry as a dashed line.

The vertex is
(Type an ordered pair.)

The axis of symmetry is
(Type an equation.)

Answers

0,1)

x=0

e R
hi-)=C0% ) hel~@) ) b() < q)Yy
hi-1 < (‘d(-f}.f/ 76/ TN~ | h(/) ‘:[////}4/
hWi-() </+/

|

e — |

I}
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135.

49 of 59

Sketch the graph of the quadratic function and the axis of
symmetry. State the vertex, and give the equation for the
axis of symmetry.

f(x) = (x- 4)°

Use the graphing tool to graph the function as a solid curve
and the axis of symmetry as a dashed line.

The vertex is .

{Type an ordered pair.)

The axis of symmetry is } :

(Type an equation.)

Answers

https://xlitemprod pearsoncmg.com/api/v | /print/math

4
20

T
-20 -16 -12

'
o

L 2ol

v '121 T -1;Er T .20

=
o
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136.
Sketch the graph of the quadratic function and the axis of ¥
symmetry. State the vertex, and give the equation for the 20
axis of symmetry. 16
1 2
f)=Z(x-4)" =3 12
8

Use the graphing tool to graph the function as a solid curve 4
and the axis of symmetry as a dashed line. o
What is the vertex of the graph? 20 -6 -12 B 4 8 12 18 20
The vertex is

(Type an ordered pair.)

What is the equation of the axis of symmetry?

{Type an equation.)

Answers

fa= €

= Xi%,
-3

-Zld-‘lﬁ LA e

e e ot e St S e e v  ———
——

/[(1)7: I | | //é:zz(&)z—r

/[(L) | N _ /[/5/"‘:{/3)/?)-7"
| fC) 2]

/[(7-) T 7 / /[/G/': f%—f

| /_[/f) =25

& /: ( f_)__ _f_—‘i__:k__.._.w,mo AM
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137.
Sketch the graph of the quadratic function and the axis of

symmetry. State the vertex, and give the equation for the
axis of symmetry.

f(x)= -4(x-5)° -3

Use the graphing tool to graph the function as a solid curve
and the axis of symmetry as a dashed line.

The vertex is l

{Type an ordered pair.)

The axis of symmetry is ! .

{Type an equation.)

Answers ¥
: (
16 {
|
121 |
1 \{7_«
8-1' I\[,lf
4-] [ ,y
! fl’
TS | B, L : M- % 417" 12
,.4..1.
! T
713 {i} 6
/ 3 4
SRR R
4 i
163 ||
§
.gnj i
(5,-3)
x=5

https://xlitemprod.pearsoncmg.com/apifv 1 /print/math

2
18
12
a
4
x
't >
20 -6 -12 B 4 4 g8 12 16 20
-12
-1
-2

4] -

RS
T
<
v
KRSAN

%/ T = (55) “=3
(CS) T~ ()l
ALls) T =y 0X0)-

/@-/z— = ) =3

A6 ~ ~ (7)==

H6) <~ 113

//g} T~ (1)-3
(é T —-—3

== ——3/29/2019.9:20 AM
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138.
Find the vertex of the graph of the quadratic function.

Determine whether the graph opens upward or downward,
find any intercepts, and sketch the graph.

fx)= -x° - 6x~5
The vertex is l
{Simplify your answer. Type an ordered pair.)
Does the graph open upward or downward?

() The parabola opens downward.
() The parabola opens upward.

Find any x-intercepts of the graph.

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice.

() A. The x-intercept(s) is(are)

(Simplify your answer. Type an ordered
pair. Use a comma to separate answers

as needed.) L/ (=

("3 B. There is no x-intercept.

Find any y-intercepts of the graph. Vir L{

huips://xlitemprod.pearsoncmg.com/api/v]/print/math

¥

o
e -]
&
kS
[‘\)'
-
da
-
[
=]

-104

_ T
F) = ~x -5
q:"’j

5 /o@)

be—G, %55

- (- / e, (= ))
Select the correct choice below and, if necessary, fill in the 2 C IJ l ( —t)

answer box to complete your choice.

) A. The y-intercept(s) is(are)

(Slmpllfy your answer. Type an ordered
pair. Use a comma to separate answers
as needed.)

) B. There is no y-intercept. l/,( e ZJ‘

Use the graphing tool to graph the function,

VW/J_{«K t(_z
V'//L/&
VT'/L()( "':_("‘_3

J
i

520f 59

(/"’10( T (

< (-3,

T (=
Y

Vekex = (=3,

Z(—B/

s (_.z))
/m)
~(-3) = ¢ C3-5)

’”F3ﬁ¢w ~€ﬂ&}ﬁg)

-(9) —6E50- §)

~ S (§—5)
T—1)

T

=
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Answers (= 3,4)

The parabola opens downward.

A. The x-intercept(s) is(are) |{—5,0),{ = 1,0) !

{Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

A. The y-intercept(s) is(are) {0,-5) .

(Simplify your answer, Type an ordered pair. Use a comma to separate answers as needed.)

?"5/ 2 -(-5) “<¢e3) -5
(3) < =(3)(A) ~6a)-
)2 =(5)~6(3)—«

(-3) : "‘Cl'—f'/i ~

/e

I
S
|""III
i
|’\
A~
5
+
R
L
R

/("{) < ”‘(“I)L‘—G(-() ,_f__'__'__“-—--
A”) == (E) =6~

(=) ==(1) —G(=y) —
[ A T (6 —s

"'-n..._‘__‘_____ -
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139,
Find the vertex of the graph of the quadratic function. ¥

Determine whether the graph opens upward or downward, 20
find any intercepts, and sketch the graph.

flx)=x* -9

The vertex of the quadratic function is the
point

(Type your answer as an ordered pair.) *

L.
ML S e e v Ll ik ) LB N LB N LA I 0 ol

-20 -1 10 -5 S 10 156 20
Does the graph open upward or downward?

() A. The parabola opens downward.
() B. The parabola opens upward.
Find any x-intercepts of the graph. -

Select the correct choice below and, if necessary, fill in the -2

answer box to complete your choice. / 1
6 <X =F X

1 A. The x-intercept(s) is(are) —

l‘g\

[4 -
- Fes) =) =9 73 L
(Simplify your answer. Type an ordered / Ol—
pair. Use a comma to separate answers . = A a =2 .
as needed.) ‘)) (3}( 3 l Ci __3__'___@
) B. There is no x-intercept. /[(,—} ) - Ci’ . c;'

Find any y-intercepts of the graph. /{t“") )=, o5 S
Select the correct choice below and, if necessary, fill-in the .

answer box to complete your choice. J/( 0 ) — @ } L ?

) A. The y-intercept(s) is(are) % p / — (() )/ ) )__,,5,

(Simplify your answer. Type an ordered .
pair. Use a comma to separate answers tO / ¢ O 4
as needed.) /7‘ =
— T
— , . U ) < C" _}
[} B. There is no y-intercept. C ( -

Use the graphing tool on the right to graph the parabola.

A(3) 2 3) -9
L3) < 30~
F31z G—9

£2/=0

et
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Answers (0, - 9)

B. The parabola opens upward.

A, The x-intercept(s) is(are) | {-3,01{3.0) |

{Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

A. The y-intercepl(s) is(are} {0,-9)
{Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

55 of 59 3/292019, 9:20 AM
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140,
Find the vertex of the graph of the quadratic function. Ay

Determine whether the graph opens upward or downward, 204
find any intercepts, and sketch the graph. 1 8-:
f(x) = ~ 15x° + 30x 12]
8
The vertex is ! ]
(Simplify your answer. Type an ordered pair.) 4]

L x

L4 L5 INLIL L UL B (L 0 0 B S B N B ek A A et g o o

Does the graph open upward or downward? 20 18 12 B 4 1 4 8 12 18 20
-4
) A. The parabola opens upward.
() B. The parabola opens downward. 8-
212
Find any x-intercepts of the graph.
-161
Select the correct choice below and, if necessary, fill in the
answer box to complete your choice, -20-

(O A. The x-intercept(s) is(are) -{/[ Iy L_f. Jox

(Simpliiy your an < =Y = .J C=0
(Simplify your answer. Type an ordered h S / b= J

pair. Use a comma to separate answers V‘r’/Lf —_
as needed.) << (Lz%‘ / ?[C.Z%) )

) B. There is no x-intercept.

Valy - ‘
Find any y-intercepts of the graph. L/{ ( Qﬁ/ ( 3 J)

2(~iv) .
Select the correct choice below and, if necessary, fill in the ( / 2 4 \

a box t let hoice.
fswer e} o.compe e y-ourc oice V‘d p L/‘}( ( C )
._J J

() A. The y-intercept(s) is(are)

(Simplify your answer. Type an ordered ‘{ ( l /( (¢ ] )

pair. Use a comma to separate answers

o) e, V= (] s )

() B. There is no y-intercept.
Use the graphing tool to g[?'ph therq’ztlon - ( // "/\ (/)(/) —+ ';J(())
[/-UL/ = ([/ -/r/( —-ﬁ?dfr)j
Vel A T ((}1 —~/5~3%9) X
[

N\

———

/@/7 ~ <o) L-fzo/o) '[//J - -lf/f) "1‘30(1)

L ECL~ACOC) +204)
/[p/ /s @//U) 2y /(] 7:—/((/)—:‘30/1)
,[(0/ T (0] Bl ‘z__-{\'-"-f"?-’

0 +0 -
q%/ OT\ () el

[>

-
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Answers (1,15)

B. The parabola opens downward.

A, The x-intercept(s) is(are)[ (0,0),(2,0} l

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.}

A, The y-intercept{s}) is(are) (0,0) f

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
e(f;'clr) ‘,/(‘Z)f.-/f(f)L—r}a(Z)
T ) £C2) © 111X 1) +342)
//(Z) < ~s(¢) v3u(2
/(L)Z — (o (o

Fo=o

141. If a baseball is projected upward from ground level with an initial velocity of 32 feet per second, then its height is a

function of time, given by s = — 16t + 32t. f/@/ (1 2 { + 37 ¢

What is the maximum height reached by the ball?
J y a=l(, L=2 ¢, C=o

The maximum height reached by the ball is I_—j feet. V-f/f_,/ (- ( é Sf- ))

Answer: 16 l/_,,[,/{: /L /34) i s
l/r’/L( | ?‘(:76_)— cha?)_
SE NS
{//(4 3&/ *%c,)
(1), §01))
(Z{’L/ (/ _—/c(n'“—uzm)
(/4//:)( (/ L)1)+ 32¢n)
- » /// (1) 301 ))

(/1/\_,//__(
l/’(/L(/"(/ /6

61-]4)
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142
Graph the equation on paper, and then choose the correct

graph.

X

y=3
Choose the correct graph on the right.
o /
7 =3 tj z ]
)< |

Answer: C/

1“1
18
3

¥
£n
L8]

——

143. Cheese production in a country is currently growing at a rate of 3% per year. The equation y = 7.1(1.03)* models the
cheese production in the country from 2003 to 2008. In this equation, y is the amount of cheese produced, in billions of
pounds, and x represents the number of years after 2003. C, 75 7

a. Estimate the total cheese production in the country in 2007, :’z__-q-d—-—"
b. Assuming this equation continues to be valid in the future, use the equation to predict the total amount of cheese L( /e
produced in the country in 2016.

a. The total cheese production in the country in 2007 was about billions of pounds. 2.0/ {
{Round to the nearest tenth as needed.) — 2
b. The total cheese production in the country in 2016 willbeabout| | hillions of pounds 3 l 3

{Round to the nearest tenth as needed.)

77.,“0 ‘77!(!0'5)
e Y R AULT |y 2 [0, 42655137
(=7 e D g Joremnd
-__-__; — v >
144. Find the amount Erica owes at the end of 5 years if $5000 is loaned to her at a rate of 4% compounded monthly. Use

A=P[1+%]m, ,4 $600 ([,-(- °o(()”(f)
The amountowedis§ | /)1 S0uQ ( .. 00333 Ba‘j

(Do not round until the final answer. Then round to the nearest cent as needed.)

SOOI {, 003333’3)

—Ans.wer _?.104 98 (/4' /oY, 59 — ¢ Ky Lﬂ:/(

Go
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145. Write the first five terms of each sequence whose general term is given.

a,=4n+5

ay = {Simplify your answer.Type an integer or fraction.}

a; = (Simplify your answer.Type an integer or fraction.)

ay= {Simplify your answer.Type an integer or fraction.)

a,= {Simplify your answer.Type an integer or fraction.)
ag= {Simplify your answer.Type an integer or fraction.)
Answers 9

13
17
21
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